
Answer on Question#38461 – Physics - Mechanics 
 
A cyclist is riding on a road, at a uniform speed of 5 m/s for 2 hours. What is his 
acceleration? 

 
Solution: 

𝑣 = 5
𝑚

𝑠
− 𝑢𝑛𝑖𝑓𝑜𝑟𝑚 𝑠𝑝𝑒𝑒𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑐𝑦𝑐𝑙𝑖𝑠𝑡. 

𝑡 = 2 ℎ𝑜𝑢𝑟 = 7200𝑠 − 𝑡𝑖𝑚𝑒. 

Travelled distance: 

𝑆 = 𝑣 ∙ 𝑡 = 2𝜋𝑅 

𝑅 =
𝑣𝑡

2𝜋
                                       (1) 

From the definition of the centripetal acceleration, thus: 

𝑎𝑐 =
𝑣2

𝑅
=

2𝜋𝑣2

𝑣𝑡
=

2𝜋𝑣

𝑡
=

2𝜋 ∙ 5
𝑚
𝑠

7200𝑠
= 0.004

𝑚

𝑠2
 

Answer: centripetal acceleration is equal to 0.004
𝑚

𝑠2. 
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